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x = ? (dans R et C par la division euclidienne)

---------- REERENGRHESRER===E S

3V(x3) = 3V(3%)

X = 327

--- division euclidienne ---

e dividende: x3 = 33 => x3 - 33 =0 => x3 + 0:x2 + 0:x - 3% =0
e diviseur: x =3 =>x - 3 =0

(x3 + 0:x2 + 0-x - 33) / (x - 3) = (X2 + 3x +9)

X%2 + 3Xx +9 =20

A=232-4.1.9=9 - 36 = -27

VA = +iV27 = +3iV3

racine #1: x 3/2(iv3 - 1)

(-3 + 3iv3)/2-1 = -3/2 + (3/2)iv3

racine #2: x

(-3 - 3iv3)/2-1 = -3/2 - (3/2)iV3 = -3/2(iv3 + 1)
mx = 3/2(iv3 - 1)

mXx = -3/2(iv3 + 1)



